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u @ k Percents of Numbers (missing number)
Name: Date: Score:

x 60% = 36.6 x70% = 18.9

x 30% = 15.6 x 90% = 83.7

x 20% = 14.6 x 50% =40

x 90% = 81 x 50% = 29

x 20% = 10 x 50% =46

x 10% = 4.9 x70% = 13.3

x70% = 50.4 x 10% =17.2

x90% =72.9 x30% = 6.9

x 50% = 15.5 x 50% = 9.5

x 60% = 40.2 x 40% = 28.8
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y 9
LD k @ﬂ@ Percents of Numbers (missing number)

Name: Date: Score:
61 x 60% = 36.6 27 x70% = 18.9
52 x30% = 15.6 93 x90% = 83.7
73 x20% = 14.6 80 x 50% = 40
90 x 90% = 81 58 x 50% = 29
50 x20% = 10 92 x 50% = 46
49 x10% = 4.9 19 x70% = 13.3
72 x70% = 50.4 72 x 10% = 7.2
81 x90% = 72.9 23 x30% = 6.9
31 x50% = 15.5 19 X 50% = 9.5
67 x 60% = 40.2 72 x 40% = 28.8
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